Efficiency vs dr

=
N

5 12
e [
> L=
3 I
£ 0.8 (- i
o N
0.6 {4+ i dnde
0.4
0.2:—
o O
E 1.05:
15___._; I11EI [THIAHIITIT I II.IiIIIIliI:III |IIIlIII lIIII II Ill
Ol ||a|||uu||||i|||i L

-1
TP min AR

1072

[ Efficiency vs dr (track,jet) |
8 02
070.18F
E F
[
<l0.16_
20.14F
Py o
20.12F
0.1F
0.08F
0.06F
0.04F
0.02F

efficie

1072 107
AR(TP, jet)

Efficiency vs pu

©
a

0.45

©
»

0.35

efﬂmency vs PU

o
w

0.25
0.2
0.15
0.1

..........................................

2 ]
T = + 1 T
o 1.05F----r---- TEFIT R TT+1T
o + T4 (4] 1
o + o ot ll By
padk 4
T+ T &+ |4
+14 -+ 1.|‘ Fs




	Contents
	Page 1


